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Second Semester Integrated (Five Year) B.A.LL.B. Degree
. Examination, October 2013
Paper — IV : LAW OF CRIMES (Paper — 1 Penal Code)
Time : 3 Hours Max. Marks : 80

|. Explain any five of the following. Each question carries 2 marks. Answers should
not exceed 50 words each.

a) “Fraudulently”

b) Public nuisance

c) Abetment of suicide

d) Punishment for kidnapping

e} Dacoity

f) Insulting the modesty of a woman

g) Punishmentfor cheating. (5%2=10 Marks)
Il. Answer any four of the following. Each question carries 4 marks. Answers

should not exceed 120 words each.

a) Sedition

b) Undue influence at elections

c) Adutlteration of drugs

d) Voluntarily causing grievous hurt

é) Receiving of stolen property

f) Sale of obscene books. J (4x4=16 Marks)

1. Answer any four of the following. Each question carries 6 marks.

a) A, a landholder, knowing of the commission of a murder within the limits of
his estate, wilfully lisinforms the magistrate of the district that the death has
occurred by accident in consequence of the bite of a snake. Has A committed

“any offence ?
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b) Mr. A was charged for causing death of one M by contact with the electrically
charged copper wire which he had fixed up at the back of his house. Has A
committed any offence ?

¢) Awoman jumped into a wellin order to avoid and escape from her husband
and subsequently came out of the well herself. Has she committed any
offence ?

d) A places men with firearms at the outlets of a building, and tells Z that they
will fire at Z if Z attempts to leave the building. Discuss the liability of A.

e) A forcibly takes the thumb impression of B on a blank piece of paper.
Discuss the offence committed by A. (4x6=24 Marks)
V. Answer any three of the following. Each question carries 10 marks.
a) Explain the offences relating to marriage.
b);vBrieﬂy discuss the law relating to kidnapping.
¢) Explain the law relating to rape.
d) Briefly discuss the offences relating to public servants. (3%x10=30 Marks)




